C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 27,133-14,905=

« e ° ° ° o »

2) 68,093 - 50,180 =

< ® @ ® L >

3 92162 - 89,601 =

< ® ® ® ® ® >

4) 92834 -22,303 =

< ® @ ® @ ® >

5) 99,327 - 62,660 =

< ® @ ® @ ® >

6) 42660 - 28,537 =

< ® @ L ® L *—>»

7) 83,942 - 43,011 =

< ® @ ® @ ® >
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
27,133 - 14,905 . 12208
12,228 12,233 13,133 17,133 27,133
5 -900 -4,000 -10,000
3 2,561
2) 68,093 - 50,180 =
4 70,531
17,913 17,993 18,093 68,093
-80 -100 -50,000
6. 14,123
3 92162 - 89,601 =
2561 2562 3,162 12,162 92,162 7. 40931
< >
-1 -600 -9,000 -80,000
4) 92834 -22,303 =
70,531 70,534 70,834 72.834 92.834
< o — e — 6 — 9 >
-3 -300 -2,000 -20,000
5) 99,327 - 62,660 =
36,667 36,727 37,327 39,327 99,327
< o — 66— 6 — 9 >
-60 -600 -2,000 -60,000
6) 42660 - 28,537 =
14,123 14,130 14,160 14660 22660 42,660
< o — o6 — o6 — 66— 06
-7 -30 -500 -8,000 -20,000
7) 83,942 - 43,011 =
40,931 40,932 40,942 43,942 83,942
< o — 6 — 66— 9 >
-1 -10 -3,000 -40,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 9




C:h Subtraction Using Open Number Lines

Name:
Solve each problem. Answers
14,123 17,913 70,531 2,561
12,228 40,931 36,667 1.
1) 27,133-14,905= 2
< ® ® ® ® > 3.
4.
2) 68,093 - 50,180 =
5.
< @ @ @ >
6.
3 92162 - 89601 = "
< @ @ @ @ >
4) 92,834 - 22,303 =
< @ @ @ @ >
) 99327 - 62,660 =
< @ @ @ @ >
6) 42,660 - 28,537 =
< @ @ @ @ @ @ >
7) 83942 -43,011=
< @ @ @ @ >

M odified
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